28%

> 50,000

Example 1

Adjusted Income: $84,404.03

23%

> 35,000
< 50,000

A

(84,404.03 - 50,000) * 28% = $9633.13

b

- (50,000 - 35,000) * 23% = $3450.00

13%

> 20,000
< 35,000

0%

>0
< 20,000

28%

>50,000

23%

> 35,000
< 50,000

13%

> 20,000
< 35,000

0%

>0
< 20,000

b

- (35,000 - 20,000) * 13% = $1950.00

ks

) (20,000 - 0) * 0% = $0

Sample Output:

Salary: 92768.54
Exemptions: 8

Interest: 1234.50

Gains: 4400.99

Total Income: $93404.03
Adjusted Income: $84404.03
Total Tax: $15033.13

State Tax: $5486.26

Total Tax: $15,033.13

Example 2

- Adjusted Income: $26,834

- (26,834 - 20,000) * 13% = $888.42

b

- (20,000 - 0) * 0% = $0

Sample Output:

Salary: 36000

Exemptions: 3

Interest: 100

Gains: 234.0

Total Income: $31334.00
Adjusted Income: $26834.00
Total Tax: 888.42

State Tax: 1744.21

Total Tax: $888.42



